EECS3311 Software Design (Fall 2020)

Q&A - Lecture Series W11l

Monday, November 30



The name of visitor comes from the fact that we want to traverse
through all the items in a data structure?

Can we review this pattern again because I cannot distinguish it from
composite pattern?
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Visifqr Design Pattern: Architecture
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test_expression_evaluation:
local add, cl,
do

BOOLEAN
c2: EXPRESSION ;

VISITOR ']L__g_ )<

create {CONSTANT} cl.make (1)
create {ADDITION}Cadd.jnake (cl1,

; create {CONSTANT} c2.make (2)
c2)
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create JATOR} V. make
| add.accept
check atta {EVALUATOR

Result eval.value
end
end
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I would like to verify that if I want to implement a MULTIPLICATION class,
I must be aware that I will need it ,

.and I should have implemented it in the beginning along with the ADD class

instead of adding the MULTIPLICATION class in after everything is implemented.
Is that correct? 4 > Lontpyt-—free
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there is a correlation between classes in expression cluster (constant, addition)
to the commands of expression operations cluster (visit_constant, visit_addition)
while the expression language is closed and we are not going to make changes,
then being open in the expression operation cluster means what?
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Visitor Pattern: Open-Closed and Sinale-Choice Principles
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What if a new language construct is added?
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If the visitor pattern is adopted, what should be closed?




Visitor Pattern: Open-Closed and Sinale-Choice Principles
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What if a new language operation is added?
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If the visitor pattern is adopted, what should be open?



From Composite-Visitor Totorial:

I can tell the static type of v is VISITOR by “(v: VISITOR)”,
but why is its dynamic type is EVALUATOR?
2 Oelorp g/a/ .mo/ce

I couldn't find a line code to assign that. 7
VIs it because <E§ALUAT5R is the only class that has the “visit_constant”

effective, so EVALUATOR automatically becomes the default type when x
“visit_constant” is called.
What if we have the PRETTY_PRINTER class, how can the second dispatch

decide which one will it call the”’Visit_constant’.
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Flat view of feature "accept' of class ADDITION

In Feature In Class From Class

z P accept ADDITION
test_expression_operation TEST OPERAT..
accept (v: VISITOR) i e
-- The current addition accepts a kind of visitor 'v'. T qiree: Grema as aar
-- The dynamic type of 'v' will deteremine the type of £un_aspec S TRax OPERAY.|TEST OPERAR
maks APPLICATION

-- operation to be performed on the current addition object.
do

v.visit_addition (Current)
end




Executing Composite and Visitor Patterns at Runtime 2 19(7 N

= Tracing add.accept(v)
W T8 Double Dispatch
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visit_constant (c: CONSTANT) deferred end ”;accept(,‘.'. YA 1LR)
visit_addition(a: ADDITION) deferred end do

end
class EVALUATOR inherit VISITOR

: INTEGER

visit constant(c: |[CONSTANT) do |value| := c.value end
visit_addition(a: |ADDITION) J POSITE
localceval left,)eva ht: EVALUATOR 1#@ o Y
: ). accept val 7 ’V?ﬂh/ mﬁrﬂlﬁ accept (v: VISITOR)%
[a. r1ght]}. accepfy g 0. do e/vor -
:= eval_leftvalue + eval_right.value v.visit_laddition (Current)

%d 'V’.S\' endend
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visit_constant (c: CONSTANT) \do := c.value end

sit_addition(a: ADDITION)
local eval_ left, eval_right: ALUATOR




I think open/close concept is not.. practical to follow.

As an example, in the project (SD2), I am always changing all the
parts of all the objects even the véry first object I created ,

(because otherwise I cannot satisfy the requirements in a proper way.
W e fouel, o oot O workay deko/l, qot Pt papet Lo
How do I decide where t0 draw the line between open and close ?
What am I missing? On a related question, in a team work project,
how do we follow OCP?
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